110mH —&R =& :106.7cm

148 (+1.9)

L=y Fun— K £ Br = EREN (=LA
1 132 B2E R FERER - - TE 157504 3
2 1637 ZH iR ERKX -2 #HB 15571 4
3 1565 B 45 ERX -4 FE DNF
4 B4 /NI BLBR EEX -M - A DNS
5 BFEFS TE AKX ERX M - FE 147b41 1
6 15631 B B ERK -4 FE DNS
7 BHFERI0 BAR EX ERX-1-%FE% 14787 2
8

110mH =Xk &< :106.7cm

L=y FunN— K % B = -1.1 JIE £z
1
2
3
4 BEHS  TE X EERX -M - FE 14765 1
5 BHEFRI0 FK X ERX-1-8F 157579 3
6 1637 ZH HN ERK -2 #HB 15772 2
7
8

110mH =R =& :106.7cm

(+0.1)

L=y Fun— K % i ® 84 L [t
1

2

3 @4 NI BAB EEA - M- R 14556

4 EBmEDS FE @A ERA M- FE 147562

5 m®gl0 A BA ERA -1 BE DNS

6 1637 LH N ERK -2 58 155559

7 1531 B B ERK -4 FE 15763
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400mH —XR & :91.4cm

14

L=y Fun— K 4% i = B4 L [t
1

2 1582 {E4k Eth  EERK-3- BE 58%h49 4
3 1633 #ZIl #wE EEHKX -2 - #MH 53#93 2
4 1577 N B ERK -3 BE 557528 3
5 1585 B EIE EHRX-3-FFE 53%49 1
6 1583 B BB ERK -3 #R) DNS
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400mH =% &% : 91.4cm

L—y Fun— K 4% i = B4 L JE AT
1

2

3

4 1585 B 5 ERA -3 BE DNS

5 1633 #Zll #|mE EERKX -2 - #%MH 55%)35

6 1582 {E4k Etb  EEHK -3 BE 605562

7

8

3000mSC 3k ik

RD. Fon— K % i = 84 L [t
1 EBET3 EA ®E O ERACM-BE 9430852 2
2 1584 HE 22— ERA -3 @m)l 10509542 4
3 1658  EIBE BME  EEK - 2- @ 10408843 3
4 1569 INIES ERK -3 BE DNS

5 1659 AF AN BERK-M-EE 95278563 1




